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	                    Question 1 :  For a sample of 100 cancer patients in Saudi Arabia, we measure how long the       

                                      patient lives after diagnosis,  then in this experiment :



	1-               1- The population is :

    [A]  Saudi Arabia  [B] all cancer patients in S.A.      [C] 100 Saudi patients     [D] all Saudi patients


	2- 

	3- 

	4-               2- The Variable is:

5-                    [A]  number of patients       [B] cancer     [C] length of life after diagnosis     [D] all Saudi patients

	6- 

	7- 

	                     3- And the type of the variable is:

                          [A]  Qualitative   [B] Quantitative and discrete  [C] Quantitative and continuous   [D] none of these



	

	

	8-                4- The sample size is:

                          [A]  Saudi Arabia  [B] Saudi patients        [C] Saudi adults        [D] 100 cancer patients

	9- 

	                   Question 2: 



	1-                5-  The sum of the cumulative frequencies for any relative frequency distribution is equal to :

                          [A]  100                [B] n     [C] 1       [D] none of these



	2- 

	3- 

	4-                6- The mean is a suitable measure for :

                          [A]  Qualitative data only                                [B] Quantitative data only  

    [C] both quantitative and Qualitative              [D] none of these

	5- 

	6- 

	7- 

	8- 

	7- If observations of some variable are measured in kilograms, then the coefficient of variation  is                                          

9-                     measured in :

                          [A]  kilograms [B] (kilograms 
[image: image1.wmf]2

)

     [C] does not have a unit    [D] none of these



	10- 

	11-                 8- If a data set has some extreme values then,

12-                      [A]  the mean is affected more than the median     [B] the median is affected more than the mean                                    

13-                      [C] both are not affected                                         [D] both are affected in the same way

14- 

	15- 

	16-                 9- If we have two groups of data A and B, and the coefficient of variation of group A is greater than               

17-                      the coefficient of variation of group B, then the data of group A :

                           [A]  is less variable than group B                        [B] is more variable than group B  

                           [C] has the same variability as group B              [D] none of these

	18- 

	6- 

	 Question 3: The following table  is the result of a study on 25 students indicating how many 

                                         courses they have failed last year :


	No. of courses failed
	Frequency

	0
	5

	1
	6

	2
	7

	3
	2

	4
	3

	5
	2


	1-                 10- The mean number of courses failed is :

                          [A]  4.16    [B] 1.92        [C] 2.5       [D] it is not possible to calculate the mean for this data set



	2- 

	3-                11- The variance of number of courses failed is:

                          [A]  2.1    [B] 13        [C] 4.41    [D] it is not possible to calculate the variance for this data set



	4- 

	                      12- The percentage of students who failed  at least 4 courses  last year is:

                           [A]  20%   [B] 80%    [C] 30%    [D] 50%



	

	                      13- The median number of courses failed is:

                           [A]  1         [B] 2            [C] 3         [D] it is not possible to calculate the median for this data set



	

	

	                      14- The  mode of the number of courses failed is:

                           [A]  1         [B] 3            [C] 2         [D] there is no mode for this data set



	                       Question 4: The ages (in years) of 50 patients were recorded as follows:


	Age
	Frequency (fi)
	Mid points of age  intervals (xi)
	fi xi
	fi (xi)2

	10-20
	                7
	                15
	              105
	                 1575

	20-30
	                18
	                25
	             450
	                 11250

	30-40
	               16
	                35
	             560
	                 19600

	40-50
	                9
	                45
	              405
	                 18225

	TOTAL
	              50
	
	 1625
	  50650


From the information summarized in this table we can say that :
	1-                 15- The approximate mean age of those patients is :

                         [A]  26.66    [B]  2.4        [C]    32.5                 [D] 31.16    

	

	1-               16- The approximate variance of the  ages of those patients is :

                        [A]  44.13       [B] 6.64     [C]    17721.21       [D] 99.89



	2- 

	3-                17- Comparing the variability of this data with the data in Q3 (the number of courses failed)
4-                     we can say that  the data in this question :

                        [A]  is less variable than data in Q3               [B] is more variable than data in Q3  

                        [C] has the same variability as data in Q3     [D] Not possible to compare the variability of the two s

	5- 

	

	                                 Question 5 :  The following table shows the grades obtained from 84 students from two 

                                                        Schools (S​​​​​​​1 and S2 ) in an exam: 


	
	Grades
	Total

	     School
	Excellent
	Very good
	Good
	

	         S​​​​​​​1
	7
	6
	10
	23

	        S2
	17
	14
	30
	61

	   Total
	24
	20
	40
	84


                  The experiment is to select one of these students at random, then:
	1-                 18- The probability that the selected student is from school S​​​​​​​1  is:
                                [A]  0.0833            [B] 0.2917         [C]  0.2738           [D] 0.3043


	2- 

	3- 

	                 2  19 - The probability that the selected student is from school S​​​​​​​1 and has got an excellent grade is: 

                                [A]  0.0833            [B] 0.2917         [C]  0.2738           [D] 0.3043

	4- 

	5- 

	6- 

	7- 

	8-                  20-   The events  "selected student has got an excellent grade "  and " selected student is from 

9-                              school S​​​1  " are: 

                                [A]  independent         [B] not independent              [C]    disjoint       [D] none of these

10-                 21-   The events  "selected student has got an excellent grade "  and "selected student has got Good 

11-                          grade " are: 

                                [A]  not disjoint        [B] not independent              [C]    disjoint       [D] none of these



	12- 

	13- 

	14-                  22- The probability that the selected student has got an "excellent grade" or " Good grade " is:

                                [A]   0.7391             [B] 0.2381          [C]    0.2609         [D] 0.7619



	

	

	                     Question 6: Let X denote the number of children per family in a population, and  

                                           the following table gives the probability distribution of X :


	Number of children (x)
	P(X= x)
	

	0
	0.2
	

	1
	0.3
	

	2
	0.4
	

	3
	0.1
	

	TOTAL
	1.00
	


	1- 

	2-                  23- Probability that there is at least one child in the family is:

                           [A]   0.70               [B] 0.3                  [C]    0.20                 [D] 0.80 



	3- 

	4-                  24-  Probability that there is no children in the family is:

                           [A]   0.20               [B]  0.80               [C]    0.90                 [D]   0.1  

   

	5- 

	6-                  25-  Probability that there is at most two children in the family is:

                           [A]   0.20               [B]  0.80               [C]    0.90                 [D]   0.1  

	7- 

	8- 

	

	9-                  26- The expected number (the mean) of the children in the family is :

                           [A]   1.97               [B] 1.4                      [C]    0.56                [D] 1.00


	                      Question 7:  A drug is 80% effective in curing a certain disease. If 5 people with the disease are     

                                            given  the drug, then:

 

	1-                27- The probability that none of them is cured is :

                              [A]   0.00032         [B] 0              [C]    0.32768            [D] 0.67232

	2- 

	3-                28- The probability that at least one of them is cured is :

                              [A]   0.00643     [B] 0.9357     [C]    0.99325       [D] 0.000675


	4- 

	                        29- The probability that at most two of them are cured is :

                              [A]   0.0512     [B] 0.05795     [C]    0.9488       [D] 0.94205


	5- 

	6-                30- The expected number (the mean) out of 5  to be cured is :

                              [A]   2              [B] 2.8            [C]    0.64               [D] 4

	7- 
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